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AUTOMATED PARKING

Features of each system considered for this analysis:

Level 0* Level 1 Level 2a Level 2b Level 3
No Driving “Driver “Partial “Partial “Conditional
Automation Assistance” Automation” | Automation” | Automation”
Steering _ v v v v
Braking _ _ v v v
Shifting and _ _ _ v v
Acceleration
Object and _ _ _ _ v
Event
Detection

and Response

*System numbering is consistent with SAE definifions for levels of automation, while “a” and “b”
indicate different implementations which are classified within the same SAE level.
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AUTOMATED PARKING

Level 1 Level 2a Level 2b Level 3

“Driver “Partial “Partial “Conditional
Assistance” Automation” Automation” Automation”

35 in common 32 in common
Driver UCAS 42 44

APA 28 in common

Computer
UCAS
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_ Level 2

Driver UCAS
APA Computer
UCAs 5 13 28 28
Total 47 54 66 72
Driver UCAs
50
45
40
35
30
25
20
15
10
5
0
System 1 Systemn Z2a System 2b Systemn 3

B Shared with other systems MW Unigue



CONCLUSIONS
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New human engineering extension strengths:

= Provides additional guidance for engineers to
understand and anticipate human interactions

= Can help suggest solutions, not just problems

= Can be used earlier in design process than
detailed simulations or prototypes
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